W79 =A)LT—4 / Technical Datall
#EATR LY / Recommended torque
NATUTARILEM3Xx10 / Hexagonal M3-10 : 0.2N*m

& T B 1EF~M2.5x7 / Captive pan head M2.5-7 : 0.15N*m ~ 0.2N-m

FNDhE R / Other screws : 0.3N=m ~ 0.6N*m

78

& (BZEREODO) / Color Type(End of p

roduct number[1)

#ERHNZA / Components

No. &R / Part name #=E / Pcs ME / Material & -FRME MW / Color-Finish
i a—F—JAavy 4 TILEZALF v ADC12 DIbN— R (NERERILIE)
Corner block Diecast aluminium ADC12 Silver-Painted (Unfinished inside)
9 R ) TILSIRHA A6063S-T5 DIbN— - (NERERILE)
Frame Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
3 IL—L . TILSHHH# A6063S-T5 DIV — B (RERELE)
Panel support frame Extruded aluminium A6063S-T5 | Silver-Painted (Unfinished inside)
. ISR ) 7 LR A1100P DIIN— - BE (EEERLE)
Panel Aluminium A1100P Silver-Painted (Conductive inside)
5 HN— ! 7 ILEHR A1100P VILA— % (EEERLE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 TH— ! 7ILSHR A1100P VILA— % (EEERLE)
Bottom cover Aluminium A1100P Silver-Painted (Conductive inside)
. a—F—H—F 8 TPE (TS RF7) T5vY, JL—, FAE—, Lk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
o EMCY—ILRH R vk 16 BEMMMH (UL94V-0) ARy T L—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 ER{FE R (MM3 x 8) 16 #% =oTILAVE
Screw (Flat head M3 - 8) Steel Nickel plated
10 BFER (RETTRILIME x 10) 8 &% =@mESOr—+
Screw (Hexagonal M3-10) Steel Black trivalent chromate
» BFER (REFNERMS x 5) . % 2V
Screw (Original trapezoid hex head M3 — 5) Steel Nickel plated
12 B{TER GETRLLFM25 x 7) 8 % =T ILAYE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

i85 / Code | 7JILZH—XR / Aluminium enclosure | 3—3—#—K / Corner guard
S B 2 JLiS— / Silver 75v% / Black
S G 2 )LiN— / Silver J'L— / Gray
SN < JLsN— / Silver FAE— / Navy
S R 2 JLsS— / Silver LYk / Red

12
4

BRSUINTFERT S

fmf/Title
O—F—H—F{HEMCY— LR —X

o]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

EMC SHIELDED ENCLOSURE with CORNER GUARD

RIE/Scale

7 5%/ Approved

iR

t&X]/Checked

3

#I[X/Created

wF

FIE /Product number

AUGEG66-16-43-[101

R—T/Page

YERZ B /Date 2023/11/20 177

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




0.3

(r—RH5 % / External)

D view

383

=D

/!

b

E view

160 =0.5 (7 —X 4} / External)

430 +=0.8 (r— R4} / External)

A view

168

F view 50

R24

(J

Q
e

50

A-A(1:55) C-C(1:55)
<r Te)
7
416 153
C view B view
438
s O i
[fp)
Q
fh4 /Title
BASUINTEHIX a—F—H—RFEMCY — LR —2 O]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

EMC SHIELDED ENCLOSURE with CORNER GUARD

7 5%/ Approved

iR

#%[X|/Checked #I[X/Created

x wF

FIE /Product number

AUGEG66-16-43-[101

RE/Scale
1:55

YERZ B /Date 2023/11/24

R— /Page

2 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

380

65

14
ST

B

|

R / Front side

D {8I#% / D Frame

2-M3FH SR
2-M3 Countersunk

¥ RXTEEHFEFE / Same on the other side.

ol
O

XM / Front side

58.7

225

—

25

33

T 1

Z M / Back side

% / Back side

anda/Title
TAKACHI] #RXEitahFERTE iR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:3
iR £ wF ~R—/Page
H66 — D430 {ERL B /Date 2023/11/217 3 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

225

86

-

2-M2.5

110

2-M3AHY IR
2-M3 Countersunk

14

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
IL—Ls

Panel support frame

o]

7 &8/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1.5:1
iR E: w4t —
W160 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\N2R)L / A Panel

109.5

778 )

7 A\

A A

\ Y/

Bxh~t% / Max dim. 102 £ 0.5
@ / Front side
B /\2~JL / B Panel

7S 728
A4 \7
N N
7 &

XM / Front side

3.5 2 86
o ] A Py
o I: N\ N\
.H
©
I
™
£
© 0
‘§>‘§ RES—MMA 2
~ Surface protective film side
#H
1
R
e L © ©
4-M25F A% LR —T
4-Metal sleeve for M2.5
Z M / Back side
I:_ A A
A\ A\
RES—A
Surface protective film side
I: @A A
A\ A\
% / Back side
fnd/Title
TAKACHI| #REH4hTFEHTE S O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 B/ Approved t&X]/Checked #1[X]/Created FIFE /Product number RE/Scale
1:1
iR =3 wF R— /Page
H66 — W160 {ERL B /Date 2023/12/20 5 /1
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7
130 6-04.5 2
O 9]

o

o

+H

™»

(o]

™

< £
: o =
=) = o O >
-
~

#H

+

ﬁ

RE—HMA
Surface protective film side
o o

ATi% / Max dim. 113 £ 0.5

XM / Front side

% & / Back side

v/

~
A\

~
A\

o)
4

md/Title
BRASHINFEHIE H18— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
778/ Approved 1%/ Checked #U[X]/Created 4 F/Product number Rg/f;ale
2.5
PR =3 BF R—/Page
W160 — D430 {ER B /Date 2023/12/13 6 / 7

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7
130 6-@4.5 2
O O O O

Lo
o
_H
™
(o]
™

<« )

o S o o s o o

= < X
=
~N
H
1
w
e RE—MA

Surface protective film side
BI#TiE / Maxdim. 113 £ 0.5
M@ / Front side ZEMH / Back side
fnd/Title
TAKACHI] #R&HAHFEMTE THsA— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
= Z s ] RE/Scale
7K B/ Approved 18X/ Checked #1[X]/Created R /Product number
1:25
AR =3 BF R—/Page
W160 - D430 {ERL B /Date 2023/12/13 771
AREDEFEIBRREHINTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






